Day 3 = Asymptotes and Vnd Behavior

dinltlon: An a5y vy dsan invisible houndary line in which the curve of a function will get
very close (o hotlzontally/vertically, but will not actually touch,
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When finding HORIZONTAL asymptotes, we need to compare the __d 3/4'1’ vi.  of the polynomials from
the numerator and the denominator. (The »(J@{{_-g_y,____ isthe _N1OHEST _ power)
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Iixamples: Find the Horizontal Asymptotes (if they exist) of the following functions,
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Steps for finding VERTICAL asymptotes: L/OCQH\U\;’Dl'ES
L Factor  Complat ey v or

2 Divide outr  comnuan  FactoYd
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Examples: Find the Vertical Asymptotes (if they exist) of the following functions.
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YOU TRY!! Find the Vertical Asymptotes:
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End Behavior

The end behavior of a function describes the behavior of the graph as x approaches positive infinity or negative
infinity. (How does the graph end on the lcft side and on the right side?)
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**For polynomial ﬁmctlc;?ls we can use the DEGREE and the LEADING COEFFICIENT to determine the End Behavior.
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Fov e funetloni 1) eomplete the table, 2 hlmllll‘y wllwsymptotes, and 3) clmrllw the end hehavior, .
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